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QUESTION ONL:"
Choose the correct answer for each of the following: X
I. The excess of expenses over revenues for a period is: 19

A. Net assets. A 7

/
B. Equity. A4
C. Net loss. / w M
D. Net income. V4 Z

.
o
&

2.0On Jan 31 2108 the assets and liabilities of ASH Company are as follows: Cash
BI)35,100: Accounts Receivable, BD&.900; Equipment, BID20,000; Accounts
Payable, BD14,700. What is the amount of owner's equity?

(State the steps of solution) i L &

A. BD 62.500 il =AY et |
B.BD 44,000 S 1 Laf laa 2 gl A e Aa et )
C.BD 78,700 Al il oy Ul o3 M g maaas ol
D. BD 49.300 / | Al bl sl (B ) LT S Y-
Aasa COE M O Lty e da sl i el

= 35,100/~ 8,900/ + 20,000 / — 14,700 /= BD49.300

3. A Company paid off BD 25,000 of its accounts payable in cash. What would be the
effects of this transaction on the accounting equation?

A. Assets, BD 25,000 increase; liabilities, no eftect; equity, BD 23.000 increase.

B. Assets, BD 25.000 decrease; liabilities, BD 25.000 decrease: equity, no

effect. //

C. Assets, BD 25,000 decrease; liabilities, BD 25,000 increase; equity, no effect.

D. Assets. no effect; liabilities, BD 25,000 decrease; equity, BD 235,000 increase.

4. How would the accounting equation of SB Company be affected by the billing of a
customer for BD 15,500 of services performed?

A. + BD 15,500 accounts receivable, - BD 15,500 accounts payable.

B. + BD 135,500 accounts receivable, + BD 15,500 accounts pavable.

C.+ BD 15,500 accounts receivable, + BD 15,500 cash.

D. + BD 15,500 accounts receivable, + BD 15,500 equity (revenue). /
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<. Dream Company has assets of BD 720.000, labilities of B> 220.000. and equity of
BD 300,000. It buys office supplies on credit for BD) 21.000. What would be the
effects of this transaction on the accounting eqguation?

A. Assets increase by BD 21,000 and expenses increase by BD 21.000.

B. Assets increase by BD 21,000 and expenses decrease by BD 21.000.

C. Liabilities increase by BD 21,000 and cxpenses decrease by BD 21,000.
D. Assets increase bv BD 21,000 and liabilities increase by Bi) 21,000. //

6. The difference between a company's-assets and its liabilities is:

A. Net income.

B. Expense.

C. Owner’s Equitv. /
D. Revenue.

7. Expenses:

A. Increase equity.
B. Are the amount earned by the business from its activities.

C. Are the costs of assets or services used to earn revenues./

D. None of the above.

8. If the assets of a business increased BD 55,000 during a period of time and its

Liabilities increased BD 21.000 during the same period, equity in the business must
(State the steps of solution)

have:
A. Increased BD 34.000. /

B. Decreased BD34,000.
C. Decreased BD76,000.

D. Increased BD76.000.
= 55,000 /-21,000 / = BD34000

9. Salaries payable appear on which of the following statements?

A. Balance sheet. /

B. Income statement.
C. Statement of owner's equity.

D. None of the above.

10. The income statement reports all of the following except:

A. Revenues eamed by a business.
B. Expenses incurred by a business.

C. Assets owned bv a business. /

D. Net income or loss earned by a business.
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Dec 1 : Invested cash for BD95 500 in the business.

Dec 3 : Bought equipment BD14.200 for cash.
Dec 6 : Performed services for BD36,400 to AL-M
Dec 9 : Paid BD5.300 cash for electricity expe

nsc¢.

Dec 13: Hired a secretary by monthly salary BD§00,
Dec 14: Withdrew cash BD2,100 for personal use,
Dec 16: Received full amount due from Al -Madina Lt

Required:

adina Est. on account.

|

Complete the following tabular analysis for the previous transactions to show effects
on the basic accounting equation.

Owner's
Assets = | Liabilities Equity
Date e Accounts | Remarks
i . H S e ! . ital
I Cash . Receivable Equipment Payable Capita
Decl 953500/ = -+ 93300/ Investinent/
Dec3  -14200/ | +14,200/ | _ |
Dec 6 '1 +36,400/ _ 4 36400/ Revenues/
i [ ' | _:w ) /ﬁ Electricity
Dec9 | 5300/ i - % epense /
Dec 13 /N _ E
] [ .
Dec 14 /-2,100 ! l - + ; /-2,100 /Drawings
L T
|
Dec 16 | /-36,400 | /-36,400 = |+ | |
|
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QUESTION THREE: T l

Hana Company completed the following transactions during the month of February
201&:

I- Invested BD22.500 for cash in the business. Memo #1.

- Purchased supplies BD3,000 for cash.

3- Paid cash BD1,800 for wages expense.

4- Issued receipt #2255 to Hamad BD14.300 for services performed.

5- Received invoice£6348 from Amal B1)2,600 for supplics.

6- Issued invoice #1113 to Asmaa BID11.200 for services provided.
7- Collected cash BD7,200 from customer Asmaa. receipt #2256,
8- The owner took cash BD1.400 for personal use. Memo #1

Required:

a) Post the above transactions to T-accounts and compute the balances at February
9.2018.

b) Prepare a trial balance for the company at February 9. 2018 by using the
previous balances were extracted from T-accounts.

1

DR Cach CR DR Capital CR
) 2250072 3.0007 223007
8 14300/ |3 1.800/ | 9) Bale. 22,500
77200/ 18 1400/ |

44.0007 6,200/

9) Balc. 37,800/ |

!

I

DR Supplies CR : DR \Va@es Expense CR
5) . 2,600/ ' 9) Bale. 1 8()0 3
9) Balc. 5,600/ |
f
DR Services Revenues CR DR Account Payable CR
Iy 14,300/ 1'5) 2.600/
) 11,200/ i 9) Bale. 2,600

' 9) Bale. 25,500/

|

DR Account Receivable CR DR Drawings CR
6) 11,200/ i 7) 7,200 / 8) 1,400/ [

9) Balc. 4,000/ 9) Bale, 1,400

i
i
i
|
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Hana Compan
Trail Balance
At February 9, 201§

Tlic Answers Conrains” Paags

[ Dehit Credit
Account Title BD BD
Cash /137 800
| Account Receivable | /4.000 -
Supplies o 1 w5600 N\
Account Payable N 2,600
Capital ” /122.500
Drawings 111,400
Services Revenues )\ - _/.’25,500_ 1
Wages Expense /11,800 -
Total /50,600 | /50,600
i ooa = |
X
QUESTION FOUR: 15|

Basma Company has the following transactions during the month of May 2018.
May 01: Sold goods to Salah Est, for BD&,600 on credit.

May 02
May 03

: Returned goods from Salah Est, for BD700.
: Purchased goods from Yosif Co, for BD2,100 on credit.

May 05: Returned goods for BD100 to Yosif Co.

May 09: Paid full amount due to Yosif Co.

Required: Prepare journal entries for the previous transactions.

GENERAL JOURNAL Page No. (1)
Debit Credit
Date Explanation (BD) (BD)
Mayv 01 | Account Receivable / 8,600
Sales/ 8,600
May 02 | Sales Returns / 700
Account Receivable / B 700
May 03 [ Purchases/ | =100
F Account Payable / 2,100
| May 05 [Account Payable / 100
I Purchases Returns / | 100
I May 09 [ Account Payable / 2,000 )
I - Cash/ 2,000
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QUESTION FIVE: :

28
The following accounts was extracted from the book of Hamad Repair services shop.

Account BD Account BD J
Loans 25,000 | Supplies ; 3,800 7
Building 123.000 ‘-('arsh \\ 4); « 1,500
Account Payable _-8.740(?)“& Wages ]:}?:HSL‘ N lL 11,900
Rent Expense 4(10([_&5{_@2 pﬁd?l_c - 1__] 7,00(). ﬁ
Beginning Capital 180,700 | Drawings | 2,300
Interest Expense 2.900 Acc;)'unt Rﬁeccivab]e j' 6.500
Services Revenues 19,200 | Prepaid Insurance E/_S,40( )
?Machines : 72,000 | FeesIncome ﬁ T 13,300
Required: 16x1=16 ]

a) Classify each of the previous accounts in which financial statement it can be
recorded (Income Statement-Statement of Owner’s Equity- Balance Sheet).

[ Income Statement | Statement of Owner’s | Balance Sheet
.' Fquity
: .
Services Revenues/ | Beginning Capital/ | Cash/
Fees Income/ | Drawings/ + Account Receivable/
Rent Expense/ J Supplies /
Interest Expenses/ ﬁ ' Prepaid Insurance/
Wages Expenses/ , Building/
‘Machines/
Account Pavable/
Notes payable/
| Loans/ 7 ‘

8x0.5 = 4 J

b) Compute the value of net income or loss.

Total Revenues = 19,200 /+ 13,300 /= BD32,500/
Total Expenses = 4,600/ + 2,900 /+ 11,900/ = BD19,400/
Net Income = 32,500 - 19,400 = BD13,100/
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‘ 4x0.5=2

¢) Compute the value of ending capital.

Ending Capital = 180,700/ + 13,100/ - 2,300 /= BD191.500. /

d) Compute the value (Total) of current, (Total) fixed assets and (Total) Liabilities
+ 3.800/+ 6,500 /~ 5,400/ = BD47,200. /

=31.500/
000/ + 72,000/ = BD195.000./  © 12x0.5=6

Total Current Assets

‘JJ

Total Fixed Assets =12
Total Liabilities = 17,000 /+25.000/ +8,700/ = BD30.700. /

|L END OF ANSWER 1

/Méw)
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